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QUESTION 1

When implementing a BGP policy on an Alcatel-Lucent 7750 SR, which of the following types of address space would a
typical address plan need to cover? 

A. RIR assigned CIDR space. 

B. External client address space. 

C. Loopback or link addresses. 

D. External link addresses. 

E. All of the above. 

Correct Answer: E 

 

QUESTION 2

Which of the following regarding BGP authentication on the Alcatel-Lucent 7750 SR is FALSE? 

A. Authentication is performed before establishing the BGP session. 

B. Authentication can only be configuredon the group or neighbor level. 

C. By default, MD5 authentication is disabled. 

D. Peer authentication may be optionally requested in an open message. 

Correct Answer: B 

 

QUESTION 3

Which of the following is TRUE? 

A. There can only be one community associated with a route. 

B. Community is an optional non-transitive attribute. 

C. Community is an optional transitive attribute. 

D. Community is a well-known discretionary attribute. 

Correct Answer: C 

 

QUESTION 4

Click the exhibit. 
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Routers C and E are route reflectors. When the update for prefix 192.168.2.0/24 is received at router F, what will be the
Originator_ID attribute? 

A. The router ID of router A. 

B. The router ID of router B. 

C. The router ID of router C. 

D. It will not be set. 

Correct Answer: B 

 

QUESTION 5

What class of attribute is Originator_ID? 

A. Well-known mandatory. 

B. Well-known discretionary. 

C. Optional transitive. 

D. Optional non-transitive. 

Correct Answer: D 
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